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I 77 mwn: assessing unexcplicated om
a  unexcplicated equivocal 1M — is treated stringently
b  if explicated (even later), we follow his meaning, even if it's Ypn%
i examples:
1  if he tethers a vow to "salted meat" or "libated wine"
(a) if he explains that he intended that which goes on the narn — valid 713 (>70R)
(b) if he explains that he intended that which is offered to 1"y — invalid 717 (>7mn)
(c) if he doesn't explicate — 1vor
ii  dispute:
1 o™
(a) if he says pn (could be [mnw — prohibited] or [@302 — permissible]) default is 11ox
(b) if he says 7wyn (could be [nnna — prohibited] or [17 — permissible]) default is 1oR
(c) if he says nmn (could be [n2wYn — prohibited] or [177 — permissible]) default is 1vor
2 :depends on regional awareness
(a) unexplicated nmAn is prohibited in NT’ (as per n™) but not in 991 (they're unaware of nNIW5n NMN)
(i) implication: he rules that nnn% 017 ono; only due to Galilean ignorance of 9”mAn is it Imn
(b) unexplicated o7n is permitted in nT’ (assumption: 013 !IN); not in 9’93 (unaware of V1N MIN)
(i) correction: should be reckoned as authored by ¥”ar1, who rules that X91p5 onan ono
¢ challenge: (20:7 M1V above) — IMN M1 DNO
i answer: that mwn is authored by 8", who maintains that a person won't place his money —1"p his own status
—into a state of pav (as per ruling re: wTpn of MNN1 NN and the possible inclusion of a ")
1 challenge: end of same mwn rules that m™131 pao are dpnY, but we may still not work/shear them
2 answer: not analogous — 7131 is inherently sanctified (pao doesn't derive from muddle language)
3 challenge: mwn (in same set in M17v) ruling that Ppwn pav is lenient vis-a-vis affecting others
(a) explication: how could that be authored by &™), who states that there is no Rn»1RT PpwN NRNMV
(i) note: source — YV 12701 "1 MTY — could mean "doesn't affect others" (but has jn¥Y nrkmv
Rn»1RTN) — which would work well; but if it means "has no nkmv", cannot be X"
il answer: our MwN is v, the nIwYN in MINV is NTIN? 71
1 support: if he made his m7m conditional on having a certain volume present and it turned out to be lost
(a) A7 /7 permits (since he made it conditional)
(b) w”r. prohibits (validates mm)
(c) challenge: (contradiction within nTn’ 1) —»"'s ruling in our nywn
(i) ->if they did know about naw9n nmn in 593, we would rule stringently
(if) answer: wherever the pao will be more severe than the '8, we don't assume that he will bring
himself to a pav
1. therefore: our mwn, a consensus, deals with 07171 where the pav is less severe; the mwn in
mnv deals with 71 where pav is more severe, since he can't shave at any point
a. challenge: what if he said 0% 911 "1 (where pav is no worse than »xT1)
i.  answer: pav is still worse; since, as D 7’11 'R, he may lighten his hair-burden
b.  Challenge: what if he said pnwnw 91 >0 (no release, no "lightening)
i.  Answer: not covered by xn»1 (=>pao would be no worse, in that case only)
ii. Challenge: we have a reliable report that it was taught
iii. Response: if so, it was taught as well
(iii) Alternate answer: the ruling about the volume present is 0717 "7 in the name of v who rules
that m71 must always be clear and decisive
1. note: w™'s dissent is presented to show that even if it was stolen or lost, he still rules that a
person will introduce a pav into his status.
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